CCRUCIVERBA DI ADDIZIONI>
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ORIZZONTALI VERTICALI
3+ 9. 2084+ 2. 2736+ 7. 1496 +
1395= _975= 2743= _205=
3378+ 12. 6868 + 3. 3815+ 10. 3872+
1498 = 1793 = 855 = 1621=
2732+ 14. 1980 + 4., 2537+ M. 7702+
1941 = 3836 = 1909 =
o5+ 15. 4604 + 5. 1128 + 13. 1363+
2= 2309 = 1111= 186 =




SOLUZIONI

CCRUCIVERBA DI ADDIZIONI>
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ORIZZONTALI VERTICALI
1263+ 0. 2084+ 2. 2736+ 7. 1496 +
1395 = 97 5= 2743= 205 =
2658 3059 5479 1701
3378+ 12. 6868 + 3. 3815+ 10. 3872 +
1498 = 1793 = 855 = 1621=
4876 8661 4670 5493
2732+ 14. 1980 + 4. 2537 + 1. 7702+
6740 = 1941 = 3836 = 1909 =
9472 3921 6373 9611
2155+ 15. 4604 + 5. 1128 + 13. 1363+
517 2= 2309 = 1111= 186 =
7327 6913 2239 1549
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